
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

2nd Month, 2nd Week, 5th Day Exercise 1.15 Q # (1 to 7)

 Answer the following questions:  
Q.1. Zawar has annual income of Rs. 1,000,000. Find the amount of income

tax.     (1x2=2)

 1,000,000 
Q.2. Ammar wants to buy an air conditioner of price 200,000. If the rate of

GST is 17%, then find how much money Ammar has to pay?     (1x3=3)

 17  200,000 


Q.3. The price of one chair is Rs. 5000. Find the amount of GST on such 50

chairs at the rate of 17%.      (1x2=2)

 17  50  5000 
Q.4. If the income tax paid by Ali is Rs. 10000, then find the total annual

income of Ali.     (1x3=3)

 10000 
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